
Math 124 Quiz 11 October 7 2016

Name:

Problem 1: Is the set 
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linearly independent or linearly dependent?

Solution: We investigate the solutions to the equation

a1
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Writing it out, this means that we are looking for a1 and a2 that are solutions of this
system:

a2 = 0
0 = 0

−a1 + 4a2 = 0.

From the first equation we see immediately that a2 = 0, and plugging into the last
equation we see that a1 = 0 as well. This is the only solution.
Since the trivial solution a1 = a2 = 0 is the only solution to the equation above, the
two vectors are linearly independent.


